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(. What is the least common denominator
of two-twelfths and one-third?

A (2 B.3 C.6 D.0

2. What is the greatest common factor
for 8 and (27

A 12 B.3 C.2 D. 4

3. Sierra uses 2/3 c. of raisins and 3/3 c.

of granola to make a snack. fow much
raisins and granola does she use

altogether?
|

A [ l/24c. B.5/llc. C. I/5¢c. D.6/24%c.

4. Solve:

Fractions: 5.NF.

. Solve:
17 1
5 B. _L
. Solve:
S _
66 2
1 Y
4 B.4
11 _ 3.
1 6
6 _ . 1_
290 13 °
1 Y _
2707 5% °
2o L
i+ F=

Name:

(1. Which symbol belongs in the circle?

1
-~ 36

(2. Mark where the answer falls on the
number line below.

8 I

9 6~

¢
< 74
0

(3. Ava ate (/4 c. of cookie dough. Dylan ate
al4 c. of cookie dough. Jeremiah ate (/3 c. of
cookie dough. How much cookie dough did
they eat aftogether?

B. | I/3c. G. 3l ¢

A. /3 c.

(4. Jake had [ (/2 gallons of paint. After
painting his room he had [/t gallon of paint
left. How much paint did he use?

C. [ /% gal.

A. [ 2/Y gal. B. (/2 gal.
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Name:

Fractions: 5.NF.I KEY

[. What is the least common denominator
of two-twelfths and one-third?

CoDes oo

2. What is the greatest common factor

for 3 and (27
C D4

A 12 B.3

3. Sierra uses 2/3 c. of raisins and 3/3 c.
of granola to make a shack. ftow much
raisins and granola does she use

attogether?
|

D.0

6.2

G_ (U282 B.5/llc. C. l/5c. D.6l2%c
4. Solve:
+
B4 G 4 D 11
5 19 30 30

5. Solve:
17
A._G_
6. Solve
S _
66 2
Y
A Y B.Y g
11 _ 3. 5_
7.1 B - 12
6 _ . 1_
g 210 137 1
L Y _
9210t 55° 7
2 2 A1
.G+t 7° 71

[[. Which symbol belongs in the circle?

11
(2. Mark where the answer falls on the
number line below.
8 3 _
9 6
v/ \
7

«
0

(3. Ava ate /4 c. of cookie dough. Dylan ate
/4 ¢. of cookie dough. Jeremiah ate /3 c. of
cookie dough. How much cookie dough did
they eat attogether?

(4. Jake had [ /2 gallons of paint. After
painting his room he had /4 galion of paint
left. How much paint did he use?

B. I/2 gal. aI.

A I3c. C.3/lc.

A. [ 2/% gal
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2.2 32 3
el gn
1 3
N

> e

3
[. Wha¥is the least common denominator

of two-twelfths and one-third?

o (2 B.3 C.6 D.0
7~
2 b
F D
2. What is the greatest common factor
for 8 and (27 13 =22-2-3

’\-
VI{‘)A. 12 B.3 ,
& 23 3 @"

‘)/_3 Sierra uses 2/3 c. of raisins and 3/3 c

of granola to make a snack. ftow much
raisins and granola does she use
attogether? @= 22" 2

<
3%
L

W

Fraohons- 5. NFI

5. Solve:

WL

(1. Which symbol belongs in the circle?

_ 1

v
(2. N?ork wheargthe answer falls on the |
number line below. G
2 = | _:_j-—
1 2. 8_3_-.*% —& 7
S=="g" " 38 1D L.
(9 18
< ﬁ( { —
0 4 9 |
15 18
A=
=N

(3. Ava ate (/4 c. of cookie dough. Dylan ate
a/4 ¢. of cookie dough. Jeremiah ate 1/3 c. of
cookie dough. How much cookie dough did
they eat altogether?

A. I/3c. C. 3 5.
-+ g L L. = fds

(4. Jake had [ (/2 gallons of paint. After
painting his room he had /4 galion of paint

left. How much paint did he use?
A. 2/ gal. B. (/2 gal. C. | /4 gal.
|5 —

|
H 5

i L,_,,L;,_:,l_
f;‘% g G 474y
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Fractions: 5.NF.

5. Solve: [[. Which symbol belongs in the circle?

(. What is the least common denominator 11
of two-twelfths and one-third? = 36
2 B3 C.6 D.0
i
| >~ = A &
2. What is the greatest common factor
for 3 and (27 6. Solve: ( _ % A (2. Mark where the answer falls on the
A (2 8. 3 C.2 @ L—} 0 ,é 5/ 1 35.) number line below.
| | | P dT 227 7 8 _ 3.
A 9" 6
- . y ’g Byl  Cc42 DY
3. Sierra uses 2/3 c¢. of raisins and 3/3 c.|'{" Y 12 ‘
of granola to make a shack. How much & J >
raisins and granola does she use 11 3 7 0 - I
aftogether? s 2127 6 " 12
] 2~ .
>3 B3 7
|5 > 2T o 2 (3. Ava ate (/4 c. of cookie dough. Dylan ate
5 2 —615—6 - 1-13— = D a4 c. of cookie dough. Jeremiah ate 1/3 c. of
(/24c. B.5/llc. C.lISc. D.6/24c| e {L cookie dough. How much cookie dough did
To — % 7 ‘/ g@ they eat attogether?
4. Solve: 1 . ﬁ 30 50 30 A /3c. C3/|C
| | 270t 55° _ 52
+ d/# ‘g’ 9” f’;ﬁ = kgb (4. Jake had | /2 gallons of paint. After
] ( 220 painting his room he had (/4 gallon of paint

o
2, 2. = e °
11 B. 4 C. Y D. 11 0. 4 + 3 nY 2l left. How much paint did he use”
L 1 L 30 ﬁ 8 A. [ 2/4 gal. B. I/2 gal.
4}% S
9 B
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(. What is the least common denominator
of two-twelfths and one-third?

A 12 D.0

2. What is the greatest common factor
for 8 and (27

*

3. Sierra uses 2/3 c. of raisins and 3/3 c.
of granola to make a shack. How much
raisins and granola does she use
attogether?

C.2 .4

Lo
1K

A [ l24c(B.5/llc)C./I5¢c. D.6/2%c.

o

3

4. Solve:

Fractions: 5.NF.

5. Solve:
;_%‘
e bea 11
A. %l B. % G .16_ D._‘g?_
6. Solve: L_/,:ff-
5 1 _
66 272"
Aty (B C.t 35 D4
1. 2= £
7.1 6 ('a
. =3
3. 210 13 ° | 7
=
1 Y _
210t 55 ° 15
2 2 _
L Il

Name: Lyz o

([. Which symbol belongs in the circle?

11

 —
—

36

(2. Mark where the answer falls on the
number line below.

8_3_. 5
Y

Vi
v
O

(3. Ava ate (/4 c. of cookie dough. Dylan ate
a/4 c. of cookie dough. Jeremiah ate /3 c. of
cookie dough. How much cookie dough did
they eat attogether?

B. | (/3c.

ﬂ

A. /3 c. C.3llc. I

(4. Jake had | I/2 gallons of paint. After
painting his room he had (/4 galion of paint
left. How much paint did he use?

A. [ 2/4% gal. B. /2 gal. C. [ /4 gal
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[. What is the least common denominator

of two-twelfths and one-third?
A 2 B.3 C.0 D.0
Ja + X = 4(

2. What is the greatest common factor
for 8 and 127

e gy
A.% B% C.2 D. 4

3. Sierra uses 2/3 c. of raisins and 3/3 c<

of granola to make a shack. How much

raisins and granola does she u

attogether? & = |
QXX: /((’ S

7 x3=af [ |

v
|

7~
c. B.5/llc. C.l/5¢c. D.e/24%c.

4. Solve:

Fractions:

5. Solve:

b

1 Y
Yo 4
11 S
x| 6
IH-6= 5

6 _ ., 1._

g 210 137 l
N = | ¢
13/10‘5 —59

1 4 21 =

9.290 7 55 ]
2+5 =77
| +8 = 9 "

2 2 —

gt T 14

Name: VZthL ?J,QL

([. Which symbol belongs in the circle?

Ol %
Gy =

(2. Mark where the answer falls on the
number line below.

8 _ 3.
9 6
K >
0

(3. Ava ate (/4 c. of cookie dough. Dylan ate
/4 ¢. of cookie dough. Jeremiah ate (/3 c. of
cookie dough. How much cookie dough did
they eat attogether?

A /3c. @ C.3llc.

1 o
(4. Jake had | I/2 gallons of paint. After
painting his room he had /4 galion of paint
left. How much paint did he use?

A. [ 2/% gal. B. I/2 gal.




/)

5. Solve: (1. Which symbol belongs in the circle?
[ What is the least common denominator
; A _ EE _ oA
of two-twelfths and one-third? HEE 36
B.3 C.6 D.0
17 1 y A .2
A. 5 B 5 C 5 D 3
2. What is the greatest common factor
for 3 and (27 6. Solve: (2. Mark where the answer falls on the
A 12 - &5 5 1 /? number line below.
| | 66" 272" . _8__/%2,(_.}_:_21
1 4 5 ) = B 9
3. Sierra uses 2/3 c. of raisins and 3/3 c. Atz A% t 43/ P-¥
of granola to make a snack. ffow much y | — | hY
! \ i ) !
raisins and granola does she use 5 h N e
1 11 . 2= el 0 5 l
attogether? 7.1 6 " i o
e 9 =g = 5 1
;*{’ 24 Dﬂl (3. Ava ate /4 c. of cookie dough. Dylan ate
‘3—-( 5 2 (13—— - 1% = 7 a/4 c. of cookie dough. Jeremiah ate /3 ¢. of
@ _B.5/llc. C. I5c. D.6/2%c.| cookie dough. How much cookie dough did
they eat attogether?
A /3c. G. 8l{c.
4. Solve: 1 L O
a.270 * 5%
+ | \ (4. Jake had | I/2 gallons of paint. After
painting his room he had (/4 gallon of paint 7
Z + 2 ; left. How much paigteid-le use? >
B4y C Yy D. 11 0. % 7 7 L |
(K -1 30 A. 2[4 gal. : .
e fedasra 1
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(. What is the least common denominator
of two-twelfths and oe—third?

6 o

2. What is the greatest common factor
for 3 and (27

A 12 @

3. Sierra uses 2/3 c. of raisins and 3/3 c!
of granolato make a shack. How much
raisins and granola does she use

attogether?
i |
A (l/24c. B.5/llc. C. U5 c.

4. Solve:

A (2 D.0

C.2 D. 4

+ B
7, B4y  C Y4 D. 11
11 30 30

Fractions:

5. Solve:
HE -
] 1 EREN
5
A.%Z_ B._;_ C.%. D'g
6. Solve:
5 1 _
66 272"
Asd ) BT C.4 35 D4
1 3. >
o AL 6 =
)
8 210 1?‘_12___
9
1 4 _
9270t 55 7 7_/\0
1
2 2 _
04+ 77 ﬂ/‘

Name: B&m

({. Which symbol belongs in the circle?

11

e e

36

(2. Mark where the answer falls on the
number line below.

8

9

VA

/\

(3. Ava ate (/4 c. of cookie dough. Dylan ate
al4 c. of cookie dough. Jeremiah ate (/3 c. of
cookie dough. How much cookie dough did

they eat aftogether? )

A B. | I/3c.

(4. Jake had | /2 gallons of paint. After
painting his room he had (/4 gallon of paint
left. How much paint did he use?

A [ 2/4 gal. B. /2 gal. C. | /4 gal

3
6

N

yA
N

0

(/3 c.




© Create-abilities 2013

[. What is the least common denominator
of two-twelfths and one-third?

=
B3  C.6

2. What is the greatest common factor
for 8 and (27
(XD

A 2 B.3

3. Sierra uses 2/3 c. of raisins and 3/8 ¢.
of granola to make a shack. How much
raisins and granola does she use
attogether?

i
. 8 5/(lc. C. /5¢c. D.6/24c.

D.0

G- 2

4. Solve:
+
A, 11 B. Y C. 4 D. 11
15 17 30 30

&\

ok 5
78’¢4O #
//S/ ;g%jo

B e

Name: ZZHM
> L

[{. Which symbol belongs in the circle?

(2. Mark where the answer £alls on the
number line below.

b 8_3. L

Té ) 6 (<
/ﬁ

0

(3. Ava ate (/4 c. of cookie dough. Dylan ate
al4 c. of cookie dough. Jeremiah ate (/3 ¢. of
cookie dough. How much cookie dough did

they eat altoge :
A (/3¢ B. [ /3c. C.3fle.

(4. Jake had [ (/2 gallons of paint. After
painting his room he had [/ galion of paint

le much paint did he use?
A (2/4gal. | B W2 gal C. [ I/% gal.
=

\ "2

EN L B



Individual Educational Programming Guide

Prepared by Joseph S. Renzulli

The Compactor Linda M. Smith
Individual Conference Dates and Persons
Name: Age: Teacher(s): Participating in Planning of IEP
School: Grade: Parent(s):

Curriculum Areas to Be Considered for
Compacting
Provide a brief description of basic material
to be covered during this marking period and
the assessment information or evidence that
suggests the need for compacting.

Procedures for Compacting Basic Material

Describe activities that will be used to guarantee |

proficiency in basic curricular areas.

Acceleration and/or Enrichment Activities
Describe activities that will be used to provide
advanced-level learning experiences in each area
of the regular curriculum.

[ Check here if additional information is
recorded on the reverse side.
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